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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.

1 (a) Explain : Types of Operation Research.
(b) Solve the following LLP problem by graphic method :
2x+5y<120,4x+2y<80,x>0,y>0
Z =3x+4y Maximum.
OR
1 Using Simplex Method solve the following LPP.
Minimize Z =xj—3xp +2x3
Const. : 3x; —xp +2x3 <7,-2x1 +4xp <12, -4x1 +3x7 + 8x3 <10,

X, X2,x320

2 (a) Explain : EMV, EVPI, EOL.
(b) The Probability of the demand of trucks for hiring

on any day is as follow :

Demand | 0 1 2 3 4
Prob. 0.1(0.2]03(0.2]0.2

The trucks have a fixed cost of Rs. 90 each day to keep
and the daily hire charge is Rs. 200. How many trucks
should be hire daily ?

OR
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2 (a) Explain the following terms in context with theory of 10

game with proper example.
(1) Player

(2) Pay-off Matrix

(3) Saddle Point.
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(b) Solve the following game by using principle of

dominance :
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3 (a) Explain the meaning of PERT and give its

characteristics.

(b) Explain the following terms :

EST, EFT.

OR
3  Prepare a PERT diagram for the following project and 15

determine critical path and total time.
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Activity 1-2

1-3

1-4

2-3

2-5

3-5

4-5

Time (in hours) | 4

2

5

7

7

2

4 (a) Explain : Types of Inventory Control.

(b) Explain : ABC Analysis.
OR
4 (@) Explain : Determining EOQ.

(b) Explain : VED Analysis.
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